SDF-G-GST
AW A9 (97-97-111)
o ;i 9w HAftrFan 1% : 250

Wy -ua wrasdt g e
(z A ¥ @ Pafaka R A g gaarEs @)
it v Ry e € S R @@ eiht 1 A R #
wvit wm sfard g
welF gE /o F R P o 3wk ara R o §)

? wgl % T 3 witga mem # Rrd s wfte, e 3@ s yAm-17 § R o, i g@ mum @ e
i @ WE-HE-IW (Vo Ho To) Y F yuys W Affe wr w frn am wifte) wiirga mem % sfafes o=
’ fordl mom A ford o 3w w A i Tl fR)

‘ UE @ 1 A 10 7% F IW 150 T N a9l UE wem 11 @ 20 9% 6 IW 250 =) A §)
@ # 3fm wem-dm R # W

' .m.mgmﬂmﬁrgmmwuww%mﬁw ‘min \@(\

[l

GENERAL STUDIES }PAPE@ :?)3

. Time Allowed : Three Hpurs @ Maximum Marks : 250
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i f‘\Q I'ON‘PAPER SPECIFIC INSTRUCTIONS
(Plcaa’t?‘ cﬁ\ea{h\.of (hc following instructions carefully before attempting questions)

There ar(.X'I'WENTY questions printed both in HINDI and in ENGLISH.
ALL questions arc compulsory.
The number of marks carried by a question/part is indicated against it.

| Answers must be written in the medium authorized in the Admission Certificate which must
; be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space

provided., No marks will be given for answers written in a medium other than the authorized
one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off,
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Enumerate the indirect taxes which have been subsumed in the Goods and Services
Tax (GST) in India. Also, comment on the revenue implications of the GST
introduced in India since July 2017. (Answer in 150 words)

TN AN W A R wEwd € B oawa R IR (Ao Do o) h wrh Wz awm Fa wehf
FRU MR Sderaen =g fufa 3 R o @l & wnda # @wm dftng

(IM 150 =1 # )

Do you agree with the view that steady GDP growth and low inflation have left the
Indian economy in good shape? Give reasons in support of your arguments.

(Answer in 150 words)

TG F Il (330 Tho THo) FFR Wi wH FR IR N wuihm B § wewE 27
(IW 150 7= 7 i)

How far is Integrated Farming System (IFS) helpful in sustaining agricultural

production? (Answer in 150/(words)
%\ OV
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i ) (I 150 7 # Afm)

Elaborate the impact of National“y&xé?sh@ Prgject in increasing agricultural
production from water-stressed dreas. N (Answer in 150 words)

e\ ™~
e el i afadfaqr % et we: w wo Radikan 3R To To T TR ¥ WRE @
wm@jj ’“‘@md ? (IW 150 Tr=1 | difdm)
How{\" “v\qs-:?ndia benefitted from the contributions of Sir M. Visvesvaraya and

Dr. M. S. Swaminathan in the fields of water engineering and agricultural science
respectively? (Answer in 150 words)

WA F1 S T A AR F2 AW FA R w Ao R R R sinie wEm W g fee s
GER el (IW 150 =@t # Afsm)
What is India’s plan to have its own space station and how will it benefit our space
programme? (Answer in 150 words)

aﬂqaﬁw,mﬁauﬂmaﬁué.wﬁm%mﬁma@mﬁ%@%ltmfﬁuaz‘i
WA R AR @ F o W, Rt el @ e 2w, e S

(I 150 W= 1 difin)

Coastal sand mining, whether legal or illegal, poses one of the biggest threats to our
environment. Analyze the impact of sand mining along the Indian coasts, citing
specific examples. (Answer in 150 words)
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Vulnerability is an essential element for defining disaster impacts and its threat to

people. How and in what ways can vulnerability to disasters be characterized?
Discuss different types of vulnerability with reference to disasters.

(Answer in 150 words)

9, 3R TR A TE-C-g W IR @ A s @ w) weda agan § qfy-aaR
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The banning of ‘Jamaat-e-Islami’ in Jammu and Kashmir brought into focus the
role of over-ground workers (OGWs) in assisting terrorist organizations. Examine
the role played by OGWs in assisting terrorist organizations in insurgency affected
areas. Discuss measures to neutralize influence of OGWs.

(Answer in 150 words)

AEAEm qiEsm 7 87 T At f ara § fede sl @) Frfe w0 1§ 7' fve wER It
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What is CyberDome Project? Explain how it can be usefulfin cu\'.?trolling internet

crimes in India. i\ [@swe;- in 150 words)
)

T e s @ e W etk ) o s e s o awoie & e @
mhmﬁlmmmﬁmﬁﬂfﬁm\@ (I 250 w=El # i)

i ! 7 z . . T
It is argued Lhat\'&h{:;st\.!-a\ftegy of -qmclu%wc growth is intended to meet the objectives of
inclusiveness dnd sustaindbility together. Comment on this statement.

@ ?\*"@\&; (Answer in 250 words)
B'tt\g\%m'ﬁ)m afy % 2R, TR fmin ¥ g 4, de =1 v\ WA WER F q9E TF T 20
THE e Fifw) (3W 250 W= 7 dftn)

The public expenditure management is a challenge to the Government of India in
the context of budget making during the post-liberalization period. Clarify it.

(Answer in 250 words)

mmﬁamwnﬁaﬁﬁﬁummﬁ%gmmw-ﬁﬂﬂgmmmmm%?

(IM 250 W= # i)
What are the reformative steps taken by the Government to make food grain
distribution system more effective? (Answer in 250 words)

mﬁwm%ﬁ@ﬁ%mﬁmmmmﬁﬂmﬁﬂﬁmm?ﬁﬁw

(3W 250 w=Ei 1 i)
Elaborate the policy taken by the Government of India to meet the challenges of the
food processing sector. (Answer in 250 words)
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15, i FufEl % g m%mmaﬁﬁzmﬁ%mmmmmm%?

(3W 250 wr==t A dife)
How is the Government of India protecting traditional knowledge of medicine from
patenting by pharmaceutical companies? (Answer in 250 words) 15

16. frurl ¥ s ur#l #) 390 F@ F fou 9 deifed) fre TeR Tema = awd R0
(IW 250 w=3t § difem)

How can biotechnology help to improve the living standards of farmers?
(Answer in 250 words) 15

17. vaia A dEfta gitfEafes @@ 6 987 gva h dween 6 gfonn dfm) me A fF R we S
dreanil famm (GREa Faagiz) R d9E 99E G99 @ aRed B agE fE T TEeEl R

(IW 250 7=t 7 G

Define the concept of carrying capacity of an ecosystem as relevant to an
environment. Explain how understanding this concept is vital while planning for
sustainable development of a region. (Answer in 250 words) 15

18, e ot snoen wevA weFm A st (Tl gEen A B R FEeEi & AW A, ﬁgzﬁﬁm
e wAfEm R yER e sede # mer wem) (mzsomurﬁ\ﬂﬁlq)

Disaster preparedness is the first step in any disaster ménage mcnt\proccss Explmn
how hazard zonation mapping will help disaster m‘iugatmk\m He case of landslides.

\l (Afswer in 250 words) 15
ey

19. RA WER 3 T @ § fafufeg \W)ﬁam} sfufrm (o o ho we), 1967 3R

Gomot{oﬂﬁﬁﬂ'ﬂﬂq\ it g SEEaR-A B @ T R ¥ AR S
mﬁfu&w % ((ﬁam)\\bﬁrﬁm)mﬁﬂﬂmﬁaﬁmnmmmﬁmwmmw
%a“ @ w1 favdum A (3 250 Wi & At

lndlan Gm crnmcnt has recently strengthened the anti-terrorism laws by amending
the Unlawful Activities (Prevention) Act (UAPA), 1967 and the NIA Act. Analyze the
changes in the context of prevailing security environment while discussing the
scope and rcasons for opposing the UAPA by human rights organizations.

(Answer in 250 words) 15

20. IW-gl i@ # Iveafadi A wm & smon smErrd, @ h gfatm F aen ons guen gfd |
A FIA T ) RA-HER EW F SR TR A e 2R Al faftm i | wdem At
Ty € g = afedn 70 F weE W= A (3 250 =i i difsw)
Cross-border movement of insurgents is only one of the several security challenges
facing the policing of the border in North-East India. Examine the various

challenges currently emanating across the India-Myanmar border. Also, discuss the
steps to counter the challenges. (Answer in 250 words) 15
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